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Part one: Reading Comprehension

Directions: Read the following passages carefully. Each one is followed by several
questions about it, Choose the one best answer, (a), (b), (¢), (d) to each question. Then
on your answer sheet, fill in the space that corresponds to the letter of the answer you
have chosen. Base your answer to each question on the information given in the passage
only.

Passage one:

Critical thinking is an important element of all professional fields and academic
disciplines. Within the framework of scientific doubt, the process of critical thinking
involves the careful acquisition and interpretation of information and use of it to reack
a well-justified conclusion. The concepts and principles of critical thinking can be
applied to a context only by reflecting upon the nature of that application. Critical
thinking forms, therefore, a system of related and overlapping modes of thought such as
anthropological thinking, sociological thinking, philosophical thinking, mathematical
thinking, ecological thinking, ethical thinking, musical thinking, thinking like a painter,
sculptor, engineer, business person, etc. In other words, though critical thinking
principles are uniyersal, their application to disciplines requires a process of reflective
contextualization.

Critical thinking is impertant because it enables one to analyze, evaluate, explain, and
restructure our thinking, decreasing thereby the risk of adopting, acting on, or thinking
with a false belief. However, even with knowledge of the methods of logical inquiry and
reasoning, mistakes can happen due to a thinker’s inability to apply the methods or
because of character traits such as egocentrism. Critical thinking includes identification
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of prejudice, bias propaganda, self-deception, distortion, misinformation, etc. Given
research in psychology, some educators believe that schools should focus on teaching
their students critical thinking skills and cultivating intellectual traits.

121) The text claims that critical thinking in scientific doubft is a process leading to. ..
a. reasonable conclusions

b. information gathering

c. scientific reflection

d. contextualization

122) The use of critical thinking conceptsis .......
a. generalizable

b. context-based

¢. of conflicting nature

d. within scientific doubt

123) Sociological, ecological, musical thinking, efc. are mentioned to show that critical
thinking principles .. ... .

a. are distorted forms of logic

b. reach a well-justified conclusion

c. lose their significance in academic disciplines

d. should be adapted for their applicability

124) In ordinary thinking, the writer believes that one is more likely to ... ...
a. start with an unrealistic opinion

b. analyze and evaluate one’s thinking process properly

¢. get involved in reflective contextualization

d. gain knowledge of the methods of logical reasoning

125) Egocentrism, prejudice, misinformation etc. are mentioned as
a. examples of thinkers” inabilities

b. the risks involved in common thinking

c. elements included in critical thinking

d. the process of reflective contextualization

126) The writer suggests that critical thinking should
a. be abstracted from intellectual traits

b. be identified with propaganda

c. be an integral part of the curriculum

d. give way te the modern psychology field

Passage two:

Health problems associated with the consumption of sugar are numerous. One such risk
to the consumption of sugar is obesity. In the Western world where the fevel of physical
activity has reduced and the level of sugar has increased, sugar is definitely a weapon
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that will result in excess weight. Weight gain from sugar is indicated in hardening of the
arteries which directly contributes to heart disease. Furthermore, sugar definitely plays
a role in developing some types of diabetes. Sugar, particularly sugar in fruit juice, is
also known to cause tooth decay. Consumption of sugar may also make one more likely
to suffer from gum disease. Moreover, sugar plays a roie in how we behave as well. It
has been suggested that excess sugar may cause depression. It may also result in
hyperactivity or mood swings as one drops from sugar highs to sugar lows. Recent
studies also suggest that too much sugar can lower the body’s natural immune response.
People who consume a lot of sugar are more likely to get bacterial infection than are
people who avoid sugar. Sugar is also indicated in digestive problems, because too much
sugar cam cause higher acid amounts in the stomach. This can lead to diarrhea,
particularly in those who suffer from irritable bowel syndrome. Given the risks
involved in consuming sugar, it would make sense to try to keep sugar intake to a
minimum.

127) According to this passage,........

a. Westerners’ hyperactivity and mood swings have led to their obesity

b. arteriosclerosis might occur as the consequence of using too much sugar

c. gum diseases are certain to occur among those who overeat sugar

d. irritable bowel syndrome generally occurs whenever a person consumes acidic foods

128) The best topic for this passage could be

a. sugar and 1ts consumption for different age groups
b. guides for people to avoid obesity

c. common health issues related to sugar

d. sugar and its effect on the natural immune response
129) According to the writer, !

a. the weight gained through consumptlon of sugar is inevitable

b. the excess consumption of sugar might give rise to both physical and mental disorders
c. refined sugar must be included in our diets to avoid obesity

d. over-consumption of sugar renders the individuals liable to unmanageable risks

130} It is implied in this paragraph that...... .

a. obesity is the sole result of excess consumption of sugar in any age group

b. excess use of sugar might bring about behavioral changes

c. sugar over-consumption definitely brings about acid over-secretion, resulting in diarrhea
d. gum diseases generally occur as the natural consequence of eating too much sugar

131) The last sentence means . .. . ...........

a. recommendations related to consumption of sugar should be given to everybody

b. we should make everybody sensible about the risks involved in consuming sugar

¢. considering the dangers of using too much sugar, one had better lower his/her sugar
consumption

d. consuming sugar gives people the rationale to minimize its use
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Passage three:

In addition to genctic ties to lifespan, diet has been shown to substantially affect lifespan
in many animals, Specifically, caloric restriction (that is, restricting calories to 30-50%
less than an ad libitun animal would consume, while still maintaining proper nutrient
intake), has been shown to increase lifespan in mice up to 50%. Caloric restriction
works on many other species beyond mice (including species as diverse as yeast and
Drosophila), and appears (though the data is not conclusive) to increase lifespan in
primates according to a study done on Rhesus monkeys at the National Institute of
Health (US), although the increase in lifespan is only notable if the caloric restriction is
started early in life. Since, at the molecular level, age is counted not as time but as the
number of cell doublings, this effect of calorie reduction could be mediated by the
slowing of celilular growth and, therefore, the lengthening of the time between cell
divisions.

Drug companies are currently searching for ways to mimic the lifespan-extending
effects of caloric restriction without having to severely reduce food consumption.

132) It is understood that the paragraph preceding this text discussed the effects of . ...
a. nutritional factors on life expectancy

b. environmental factors on health issues

¢. heredity on longevity

d. lifestyle on people’s health

133) According to the passage, caloric restriction.......... the life span .
a. has positive effects on

b. has a negative correlation with

c. is mostly independent of

d. is as genetically determined as .

134) 1t is implied that the time between cell divisions........
a. is based on a fixed time interval

b. can be shortened through malnutrition
c. 1s unaffected by caloric reduction

d. slows down with overnutrition

135) The effect of caloric restriction . .......

a. will be evident if started early in life

b. can be increased through the mediation of cellular division

c. 1s confined to some specific species in particular environmets
d. can be observed at any age

136) It is said that drug companiesare..........
a. going to persuade people to reduce food consumptlon

b. after a drug that can imitate the effects of less caloric intake

¢. looking for new ways to extend the effects of caloric restriction
d. against any reduction in food consumption at an early age
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Passage four :

Physicians have struggled with the medical ramifications of athletic competition since
ancient Greece, where rational medicine and organized athletics originated.
Historically, the reiationship between sports and medicine was somewhat adversarial
due to rival objectives. The goal of sport is triumph, whereas the goal of medicine is
well-being and the pursuit of victory can threaten health. Two physicians commonly
referred to as fathers of sports medicine—Galen, who started clinical practice as a
physician for gladiators, and Hippocrates—were both critical of the lifestyle of
professional athletes. Rational medicine was deeply rooted in the notion of moderation;
hence, the immoderate lifestyle of athletes, which involved intense training, excessive
diets, and obsession with victory, was viewed as unhealthy and potentially dangerous
behavior. In accordance with this disapproval, sports medicine served more of an
observational role and, perbaps reluctantly, a restorative role in the “pre-modern”
period, which continued throughout the 19 th century.

137) The objectives followed by physicians and athletes .. ... A
a. established a sound basis for mutual cooperation

b. coexisted successfully over time

¢. were derived from different perspectives

d. were well received interdependently

138} According to physicians, athletes’ obsessive desire to win the game
a. is their ultimate goal
b. may put their health at risk
c. 1s of prime importance
d. may be health supporting
[}
139} Galen and Hippocrates were tweo physicians who
athletes.
a. disfavored
b. approved
c. established
d. neglected

140) The text implies that sports medicine should
a. avoid interfering in athletes’ lives

b. maintain its observational role

c. restrict its role to risky behavior

d. adopt a more active role

Passage five:

Drug-seeking patients may be skilled in describing symptoms of pain, anxiety or
insomnia in order to obtain a prescription. Several studies have shown that medical
graduates are poorly prepared te deal with patierts preserting with possible drug
dependence. A focus group study of general practitioners in Australia found that they
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had significant problems in determining the legitimacy of such requests. Furthermore,
when they knew (or strongly suspected) that patients were drug-dependent and were
exhibiting drug-seeking behavior, they found the interaction unpleasant and had
difficulties in offering care which did not involve the prescription of a psychoactive
drug.

The relatively poor performance of practitioners, and hence the need to enhance their
knowledge and skills for effective interaction with drug-seeking patients, was
highlighted in a recent study. An independent assessment of the management of 15
patients with injuries subject to compensation claims found that all 15 patients were
independently assessed as opioid-dependent, yet only one patient had a previous history
of drug dependency before injury. Authorization to prescribe opioids was sought on
average 12 months after regular visits had been established, despite a mandatory legal
requirement for authorization of the continued provision of opioids for longer than 2
months, and for all patients who are dependent.

- 141) The passage implies that............. .

a. many drug—seeking patients present an unreal picture of drug-dependency
b. drug--dependency is poorly managed in Australia and elsewhere

c. patients are skilled in prescribing medications

d. Australian general practitioners are unskilled

142) We understand from the passage that prescribing opioids needs...
a. experienced physicians

b. special training

¢. official licenses

d. interaction with patients

143) We read that patients with injuries...
a. sought opioids to relieve their anxiety

b. had a history of drug-dependency

¢. proved to be drug-dependent

d. asked for financial compensation

[

144) According to the passage, general practitioners...

a. were able to reverse drug-dependency

b. prescribed drugs without authorization

¢. failed to identify drug dependents accurately

d. behaved unpleasantly in dealing with drug-dependent patients

145) The passage is generally...
a. factual

b. imaginary

¢. uncthical

d. incomprehensible
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Part two: Vocabulary
Directions: The following are incomplete sentences. Below each one are four words or

phrases marked (), (b), (c), (d). Choose the one word or phrase which best completes
the sentence.

146) If a poisonous substance has been spilled on the skin, it should be removed by
the area with water.

a. sinking

b. flooding

¢. drowning

d. soaking

147) A clot within a vessel can cause the blood flow to the brain that can result in
cerebrovascular stroke.

a. interruption in

b. contraction of

¢. assessment of

d. enhancement in

148) During the early phases of body fluid less, the body makes adjustments to
state of lowered fluid volume.

a. compensate for

b. elaborate

¢. contribute to

d. contaminate

149) Living mechanisms are often more efficient than their artificial imitations
man. .

a. contrived

b. contested

¢. condemned

d. condensed

150) Although each year many people die of hunger worldwide, in some countries, the
of agricultural products is destroyed.

a. abundance

b. surplus

¢. density

d. fertility

151) Balanced nuirition and regular exercise help an individual to not only
physical but also mental disorders.

a. withstand

b. perceive

. contract

d. encounter




152) Patients who spend hours watching TV are advised by physicians ti change theim
lifestyle and do some exercises.

a. sedentary

b. invaluable

c. vigorous
d. feverish

153) When the power failed, the food in the refrigerator started to go bad and, after =
few days, gave off a(n)-.......... smell .

a. fragrant

b. aromatic

c. lavish

d. disgusting

154) The surgery had to be until the patient’s poor health condition stabilized.
a. accomplished

b. approved

¢. appreciated

d. postponed

155) The government has $10 million for health education and hygiene, in am
attempt to enhance people’s knowledge of health.

a. discredited

b. dismissed

c. allocated

d. amended

156} In order to your asger, try a simple 'stress-management technigue such as
thinking of something that gives you pleasure like a beautiful scene in natuwe.

a. augment

b, aggravate

c. defuse

d. demonstrate

157} It is important to remember that forgiveness does not necessarily mean
with the person who upset you or overlooking his or her action.

a. reconciling

b. collaborating

C. arguing

d. struggling

158) The combination of the flu and pneumonia in fact, is the eighth-leading
dcath among Americans.

a. cause

b. reality

¢. basis

- d. status




159) Although it’s impossible to keep your bare hands germ- free, there are times when
it’s to wash your hands to limit the transfer of bacteria, viruses and other
microbes.

a. illogical

b. critical

c. unethical

d. optional

160) If you vomit several times in quick . .... ... ., you may burst a blood vessel in the
food passage.

a. conduction

b. competition

C. concession

d. succession
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